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3841
B.Com. (Third Year) Examination, 2017

BANKING AND BUSINESS ECONOMICS
(Financial Management)

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(Tve-3)
Answer all questions (50 words each).
All questions carry equal marks.
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PART-B [Marks : 50]
, (|ve-9) ,
Answer five questions (250 words each). Select one question
from each unit. All questions catry equal marks.
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PART-C [Marks : 30]
(gve-9) -
Answer any two questions (300 words each).

All questions carry equal marks.
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PART-A
(@ues-37)

UNIT-I
(-1
1. (@  Whatis traditional approach of finance function ?
foq w1 W WP RERMW # % 7
(i)  An income stream provides < 4,000 for first three
years and X 6,000 for next three years. If interest
rate is 12% then, what is the present value of in-
come stream ?
TH 3@ FAE YoM i an % faw T 4,000 @
el @ T & T T 6,000 TR wE AR
=N W 12% § A T YOE H FAEE A
BT 2
UNIT-II
(FFR-1D)
. (ﬁi) What is Optimum Captial structure ?
IFTHEEH ot TN M TR B2
@iv) X Ltd. issues 20,000, 16% debentures of T 100 each
at par. The underwriting commission and brokerage

are ¥ 50,000. Assuming tax rate 35%, calculate
before and after tax of debt.

X f& 16% & 20000 ®=oOA T 100 W oA
Tq g R Frifm wd #1 ofi wevm
TR T 50,000 ¥ FF W 35% FEA FL WU
F H @ T H WAN AN JW RIS
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UNIT-1II
(FTE-I1D)
What is Capitalisation ?

TS F w2

At operating break even point what will be degree
of operating leverage ?

W@ammﬁgwmmﬁ
feit (amm) w= g2

UNIT-IV
(FHE-TV) -
What is call option ?
- H STYM T OB ® 2
Define Growth firm.

qﬁm#wﬁaa‘rqﬁﬂmml

UNIT-V
(FFTE-V)
What is lead time ?
GEelE S i
Give importance of cash budget. (any four points)
THE T F W TR (T GR B
(2%10=20)
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PART-B

(TUs-q)
UNIT-I
(FFT-1)
Explain nature and scope of financial management.
(5+5=10)
g Ty W EE W 89 W TR R
OR (37@)

Calculate equal monthly instalment for Mr. X, if he wants
to borrow T 15,00,000 and interest rate per month is
1% and the period he is taking is 60 months. 10
f X @ fu wigw fRRl w1 O Eifem, AR OTE
2 1500000 SHR O W@ T U AW W 1% Ha
T & wen 9% 60 WE w @ty = ¥

UNIT-1I

(FeTE-10)

Explain merits and demerits of equity shares. (5+5=10)
T S B T T A W e #

OR (379)
Explain characteristics of sound financial planning. 10

wwmﬁﬁmﬁﬁmml
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UNIT-III

(FFE-1I)

6. Explain causes of over capitalisation. 10

sfagsiientor & HROT W® T HIE
OR (37eram)

7. The following data are available for XYZ Ltd. :

4
Sales | | 4,00,000
Less : Variable Cost @ 30% - 1,20,000
Contribution 2,80,000
Fixed Cost | 2,00,000
EBIT | 80,000
Less : Interest 10,000
Proft before Tax 70,000

Find Out :

(i)  Using the concept of financial leverage, by what
percentage will the taxable income increase,
if EBIT increases by 6% ?

(i) Using operating leverage by what percentage will
EBIT increase, if there is 10% increase in sales ?
(5+5=10)
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XYZ fa. = fou frafafes o6 STesy § @

4
fowa : 4,00,000
HeTEY : IREdRi e @ 30% 1,20,000
YA 2,80,000
feer T \ 2,00,000
EAC R 80,000
U2 : - 10,000
W WG - 70,000

| HY

@ o SHe F1 ST F gC Taed, AR EBIT
6% ¥ ga T @ I A o ¥ R wlwem i
Uil |

() IR IHEE F ST FQ TC IO, AR
fowra § 10 wfwww %1 9fs @k & @ EBIT § fret
faer gfs €Fft 2

UNIT-1V

(FHE-1V)

8.  Write a note on options. 10

AU W TEH g fafad
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- OR (o=
9.  The following information is related with XYZ Litd. :
XYz fa & waw ¥ frefates geeg €

Firm X Firm Y “Firm Z

(FH X) (FH Y) (%9 Z)
EPS T 10 T10  T10
r 12% 10% 8%
K 10% 10% 10%

e

Compute the value of equity shares on the basis of Gordon
Model by using the following information regarding dividend
and retention ratio : | |
M Hiew B MHR W AWM T TR UM ®
‘mﬁﬁwﬁ@awﬁmmm@mm

W T T HIC

Cases Casel Casell  Caselll
(+9) Caib) (FEM  (FEID
Retention Ratio 0% 20% 80%
fauror STgue

Dividend %10 : %8 T2
Ikl

10
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UNIT-V

(FFE-V)
10. A machine has cost of ¥ 3,20,000, which has economic
life of five years and scrap value at the end of 5th year is
% 40,000, It will generate cash inflows in following

manner :

TF W A 320,000 § freem onfdw S
HE g ® den uied ad # ofa o erafite qew T 40,000
21 3R Jwe oY fre @l @
 Year (ad) 4

80,000
1,60,000
1,20,000

60,000

20,000

(.Jl-l-kl))l\)(—-\

These estimates are before depreciation and tax rate is 50%.

Calculate accounting rate of return. 10
4 g T T ¥ T WA R 50% ¥ @ A
T T FR
OR (31&@m)
11.  Explain Miller O.R. Model of Cash Management. 10

THe 7oy & fier allem WET $ e Hifg)
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13

PART-C

(TUs-H)
UNIT-1
(FFTE-1)
Critically evaluate the profit maximisation objective of
financial management. 15

fofg gaa ® oY B SURAHR ® I/YT W
STEArETeTE qedisa hifg '

UNIT-II

(FE-1D)
Capital Structure of X Ltd is as follows :

Sources 4

Equity Shares of ¥ 10 each 80,00,000
Retained earnings 40,00,000
9% Preference Shares ¥ 100 each 20,00,000
12% Debentures I 100 each 60,00,000

The equity share of the company is sold for ¥ 40. It is

~ expected that company will pay dividend of ¥ 4 per share
~ this year. Corporate tax rate is 30%. Assume 15% as tax on

dividend income of individual share holders, compute

Weighted Average Capital Cost (WACC). 5.
X fo, 1 g W T YR ¥ |
g I
THa AT 10 W W , 80,00,000
uﬁmﬁa = 40,00,000
% TETUHR W I 100 i @fﬁm{ 3w 20,00,000
129 o9 T 100 W O 60,00,000
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14.

15.

FEAT F OGAA Y T 40 B W Y 9 TN ¥ wEA 5
o T 4 f o R Y e SfE wE P R
30% 81 SAFRTR SAETR B A WO 15% 1 ARa
STa TS @ T Fif

UNIT-III

(FT3-100)

Wthh kind of risk is measured by degree of finance and

‘operating leverage ? What purpose is served by these

leverages ? (7+8=15)
fori sHiow wd o SO oA @ SR

mmwmm%?sﬂmmmm
# o = R
UNIT-1V

EHE-IV)

X Ltd. has 2,00,000 outstanding equity shares. Company

earned divisible profit of ¥ 30,00,000 in the year 2015-16.

- Company has to take decision regarding the payment of

dividend of ¥ 15,00,000. Company wants to invest in an
attractive project which requires an initial outlay of
¥ 40,00,000. Other relevant information is as follows :
Capitalisation rate = 10% '
Price earning ratio = 7

Company is contemplating on the value of firm. You are
required to justify the irrelevance of dividend decision in
regards to the value of firm takmg MM assumptions into
consideration. 15
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16.

X fa. & W@ 2,00,000 3EE THa @ € HEEA A o
2015-16 H T 3000000 &1 fasom ara o ot foran
R1 T H T 15,00,000 & A F TAE F 0 A
2 O TH oTEYE oRAeE § fafrEm e wed @
T smfee fafim X 40.00,000 21 1= Fwafud AT
WW% 4

TS R = 10%

HIFG IS I = 7 :

FEE TH B Y B o) H AR w2 S T,
el AR FRa gU i STyt ot @
=t SE §

UNIT-V

(FFTE-V)
A company has an investment opportunity costing
¥ 80,000 with the following expected net cash flow after
taxes and before depereciation :

First Five Years ¥ 14,000 per year
6th Year ¥ 16,000
7th Year _ T 20,000
8th Year < 30,000
9th Year - < 20,000
10th Year 3 8,000

Using 10% as the cost of capital determine the following :
@) Pay back period. ' |
(i)  Profitability index @ 10%.
(i) IRR with the help of 10% and 15% discount.
- (5+5+5=15)
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% 80,000 B THH TS Vohe Yae FX 9K T3 g9 74 FeA
TFR TR T

T uE T ¥ 14,000 i =
B3 T | T 16,000

i i 20,000 -
et T % 30,000
e . % 20,000

T T ¥ 8,000

TSt AFE 10% W OWEM w@ g e ow fruio

HIfeT ¢

() I st

(i) TNTEEET GEFE 10% H W R .

(i) 10% T 15% 9L T F T ¥ FTRE TG
= '

1w
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